Math 4
4-2 Practice
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Use the Law of Sines or Cosines to find the missing side lengths and angle measures of the

triangles shown or described below.

1. C

.
"= s
Al

s

otn AT MR\ Cery (g

="
g
C =\ og

\\.06 3

N \U"S '}\"'\ A
' \ . 5
3. B=150°b=30,c=10
Y5) - l)
c “iso | 2N C
o
3o )
\> C=\o
Q —
3 ‘o A A -~ %oo
o S
= Ch = -~
S S0 S %o B 3O 32
¢
h s
e 35 41) .
§ c=10 B
C 2 \05g°
\O _ __“3 ~_\__L N <y
Sva \Q‘S -T2 ‘-\O Tarmy \os 5\",(\ 2 'D
S 2€.65 a = 5.9y

’!}
'_,--'/ET'.:.":,'U‘= 8 CE —_’_l‘”
2. . Y
A== > e
15)
g .= \
— - , 5 = \ ')\‘
AN g N to r}‘\
RN Y N 26

4. A=48°b=3,c=10

R
T Y Yo “g

C. [l -4 ?J.?DO
3&3 :
) &
&% _ D L= \o
22 A .
[0 L\OU %\'(\ % C - \\69
6. ]
=12 “J =10
! ¢ =16 B
N (8 (N
YA
C
c =95
E3 T 7
\ AN ~\
Com @ = S} () Y

PYCYATA

\')D =) L—\C\o

A 58"




Use the Law of Sines or Cosines to answer the questions below.
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7. A triangular parcel ¢f ground has sides of
lengths 725 feet{60 feet, and 575 feet. Find

the measure of the targest angle. 1 “
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8. Because of prevailing winds, a tree grew so that it was leaning 4° from the vertical. Ata point
40 meters from the tree, the angle of elevation to the top of the tree is 30°. Find the height of the
tree. .
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9. A flagpole at a right angle to the horizontal is located on a slope that makes an angle of 12° with

the horizontal. The flagpole’s shadow is 16 meters long and points directly up the slope. The
angle of elevation from the tip of the shadow to the top of the pole is 20°.

a. Draw a triangle to represent this situation. Show the known quantities on the triangle, and
use a variable to indicate the height of the flagpole.
\

b. Find the height of the flagpole.
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10.  Onaan MLB regulation baseball field, the pitcher’s mound is 60.5 feet from home plate and
there is a distance of 90 feet between bases (home to first, first to second, etc). How far is it
from the pitcher’s mound to third base?
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